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All Questions are compulsory and each question is of I mark.

qlit qqit C srard* dt Md n a*fi sryrc a? qrq * t
only English version is valid in case of dffirence in both the languages.

1. furdqr+ ?ffis5{ ERt iF{I rTlqt ETrflI

tt
(a) fueffi{
o) irFtrfl4

(c) qRr

(d) fu{-qrfr{

fir*t or qa{ t
(a) qRI qFr;T

(b) tFEilqFFt

(c) lEqrqq
(d) for+qrqt

*S. sctctc{ e d.S. +c{ ii HI if,nt
tr
(a) sdfrtuif
(b) iffi{r if
(c) *6iri
(d) 3T{rff ifi,rii T6r

1. What potantiometer transducer

measures ?

(a) Displace,ment

(b) Temperature

(c) Current

(d) Potentialdif[erence

2. Working of synchro is

(a) Currentmeasurernent

(b) Phase measurement

(c) Error detector

(d) Voltagemeasurement

3. What is the difference between

seruo motor & DC motor J I

(a) In working
(b) In constnrction

(c) In lubrication

(d) None ofthe above

,|

3. DC
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oil-erRd q-q +r'r cie{ si ffi +ar +t
qqr+* qffi t r
(a) qt5.+-frq

(b) fr 6-dq

(c) h o.*q
(d) S.S. qqr$

2mtr+tatHRT qm qmrt

(a) r+rvr **at
(b) iErrFT

(") ffi+rlfr
(d) qulnft

qitr+-qqsrr d qnqq tdr t
(a) il{ET

(b) qg

(c) ART

(d) dfuqq

qfkr wr€r it qfiffi f{dr"r {*.rt
tirtilrdiq sftHftrto,mt

(a) EH {Atd t lprfr qRqdT

(b) torfr qfirqeq t ffi {+il

(c) <rd ri+d t fuga {+il

(d) srn-n 6t{Tfr

8. dlqT fisq +r or{ t
(") riin * urr qft frqr

O) fitk*-n lft t fu {i+n
qfirqdq

G) ffiEria*tqfr+t*qr
(d) kqd {+a fri t*flT+-d {+d

qfir++{

5.

6.

7.

(2) 2A72

How many phase suPPlY is given to
shaded pole induction motor ?

(a) Single phase

(b) Two phase

(c) Threephase

(d) DC supply

Techo generator m easures

(a) Light intensitY

(b) Vibration

(c) Linear speed

(d) Rotating speed

The medium in pneumatic sYstem is

(a) Liquid

O) Air
(c) oil
(d) Helium

The control valve used zts final
control elernent in pneumatic control
systern converts.

(a) Pressure signal to Position
change

(b) Position change to Pressure
signal

(c) Pressure signal to electrical
signal

(d) None of the above

The function of limit switch is

(a) To limit the value of a signal

O) To convert mechanical motion
to electrical signal

(c) To limit the motion of a drive

(d) To convert electrical signal into
mechanical signal

4.

5.

7.

8.
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e. Frrrfrlqt Esr{rii ii t +{ S srfriTq

Frirrur wrt +eT t r
(a) fuqn ={ik+^qfir+dr
(b) filrdqt+
(c) vqi qtct

(d) fr{irurfrq

lo. elfftffi fr{rur arcren { tier* eq si Tfi
fuqr qnr t
(a) EFn

(b) +64
(c) fr{iilT
(d) Bqdffi erfr

It. qiE-+' t$hrq {srt d ({rt Eng +t
qrq frqr Et-fr t
(a) ot t to fr.f's.err$.

O) ot t os fi.r'q.qrt
(c) rttsfr.q'{.ont
(d) + t zo frr's qrt

lz. "Srr +u iR' ut grr*q rgrqffro qnr

sq}ma ii wr srw q,rl fi tdq t6qr
qrar t r
(a) oq qdvr

(b) ffi enqut

(c) 3fir+.cBe
(d) slfrrfi snryt

13. ]rflqfr qnr qqt*er ii oltr+. .flWt
ffiqfr.Rftrd-drt z

(a) ftr*t{s'rh
(b) mq qfr
(c) efiroqm
(d) tilrdrrfr

14. tqrenr ftq st Crikd ft;qr qnr t
(a) q?r IFIrd

(b) to u-qrd

(c) qrglrlrd

(d) Bq{tff {*

(3) 2072

Which of the following elements is
not a final control element ?

(a) Electro-pneumaticconvertor
(b) Potentiometer
(c) Servomotor
(d) Control valve

In pneumatic conhol system, the
compressed air is not
(a) filtered

O) lubricated
(c) regulated
(d) all of these

The pressure range of compressed air
in pneumatic instrumentation system
is
(a) 01 to 10 psi

(b) 0l to 05 psi

(c) 3 to 15 psi

(d) 4 to 20 psi

The drag cup rotor is used for AC
servo motor to achieve the following :

(a) Low friction

O) Low torque
(c) High inertia
(d) High torque

The maximum torque oc,curs at which
speed in AC servomotor
(a) Synchronous speed

(b) Low speed

(c) High speed

(d) Rated speed

74. Dampers are used for controlling the
flow of
(a) Water flow
(b) Oil flow
(c) Air flow
(d) All the above

9.

10.

11.

12.

13.

P.T.O.
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15. ('(rls qqrq fid" tir{ +{ + olftr*- di
qrthq etft t r
(a) rrr.t
(b) EIRr qEIr6

(c) s.qdmr
(d) sTr*.wftqf+qd u-dr6

16. FTE{ { t +{ S eq ffi fiqq ut {i{T{I
it+uiierrfitt
(a) arq-S 6r {r{
(b) 3TrilE i[,r l[rq
(c) fr-utq sr gq
(d) gTrfqrtrqrm gtr

t7. ffi f{Tq +t qq|t + ft{q t=rq +t{ qr

sqdrr far t r
(a) qfirs{

o) ftil
(c) eTR.fi.S.

(d) sq{tffi st+'rfi

18. **fr sTltq' *.r sfrt frET if t f6{if
dartr
(a) er{*erif
O) R-dqtnif
(c) YItffifird-s{ii
(d) Sqm.*. it

t9. qqfrsrtror+r{t
(a) dl€dr sqffiur
O) qrr ratfffur
(c) vltff qq$t6{ur

(d) s.Rt-n utfr

za. fuTif + +t{ rrT i6q wroqre t t
(a) ftratr qre
(b) $ffifsqr€
(c) Hrs<c i2u qrdq

(d) kseqre

2072

In excess of what parameter the
thermal overload relay operates

(a) Time
(b) Current flow
(c) High voltage

(d) Lightning flow

Which material is used for
construction of temperature switch as

under ?

(a) Combination of wood
(b) Combination of non-metal

(c) Combination of two-metals

(d) Combination of semi conductor

Which of the following is used for
making pressure switch ?
(a) Thermister

(b) Bellow
(c) RTD
(d) None of above

In which of the following the ladder
diagram is used ?

(a) ln stepper motor
(b) In servo motor
(c) In power cylinder
(d) In PLC

The work of amplidyne is

(a) voltagearnplification
(b) currentamplification
(c) powerarnplification
(d) All above

Which of the following is small flow
valve ?

(a) Butterfly valve
(b) Solenoid valve
(c) Saunderspatentvalve
(d) Niddle valve

(4)

15.

16.

17.

18.

19.

20.
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zt, fr+{rr firhq qfis q r+rr q.{+ sr
wrqTortt
(a) {hqT +kq
(b) $q{r +'n€{q

(c) grt qq +ftTq

(d) Brtffi q,{t tE

22. fiTq ii t *tq qr q;rkt fuiilr sltFlEr

rc1t t
(a) {fl qa
(b) *.S.e{R.

(c) rnf*.
(d) nngratftd

23. r<dt*rt or sr{ wrt r Gi ctc{+)

(a) \'n +.{ + Tm+ *. qR {qrfr mr

q?FIt I

(b) fii +c{ Eil qu-rilq wnt I

(c) \r*.+Ttriwffi +.TstrGIFII I

(d) Bq{tn stiTfi

24. rlq{rfuzrsr sqdrr frdr t
(a) .Irft*s6r{ it
(b) u+ailEilmrftt
(c) CIIErct{ rfr +6r{ if
(d) drrdmrfr *sd i[

zs. Sfr. 2olq-{tc{ii f=rr{ arFrqi t 
'

(a) o,rf{ E{r *r qd fqq qnr 
1

(b) +,qlc{srur+tafrt+ r

(c) enszgaufum *q *+r r

(d) sqfuq$

2072

21. For what reason we use contilctor
control circuit ?

(a) For better service

(b) For safety

(c) For less expenditure

(d) All of the above

22. Which of the following is not a

contactor control element ?

(a) Push button

(b) rDR
(c) Actuator

(d) Thermal protection RelaY

23. What is the meaning of interlocking ?

(In two motors)
(a) Run of one motor after running

of another.

(b) Run of two motors
simultaneously.

(c) one motor stops when, another
starts running.

(d) None of above

24. The stepper motor is used for

(a) Heavy load works

(b) [,ow load works

(c) Intermittent speed works

(d) Continuous speed works

25. DC techogenerator has following
losses :

(a) Damage of carbon brushes
regularly

(b) Heavy spark on commutator

(c) Output impedance is low

(d) Above all

(s)

P.T.O.
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26. fifiixur qr€ *t {rfir frq if t ffi
+t ertrt t
(a) frfir
O) ritqr

(c) 6rrd-{-*d

(d) *6r

27. fisfr (q qfr +it sr flTri-dur t+s sro.{ur

65s orfr t t
(a) rZwct t
(b) 2nMcat

(c)qDr*gl.h
(d) vd'de{

zs. t{qdtst{qrffifoftTtt
(a) qffmfine{
(b) tuqd*.{
(c) nFftffirs{
(d) qiftmsrffirq

rTg rrcn6 E{IFr iFT qrq frq lanq qrq t
qcdartt
(a) qs"{q (1")

o) sTrtlr {q (%")

(c) iEq(2")
(d) +nt{q (%")

era dffivr+r qr qr{ ait-+. fl+iilr
qr€ t frt{si rcri or t t
(a) qr+ffi€
O) qre-*Relfr1tc

(c) arg *r<t*q 3rs{

(d) sqnffi€$

29.

30.

(6) 2072

Which of the following is used for

construction of control valves ?

(a) Brass

(b) Copper

(c) Carbon-steei

(d) Iron

Which instrument is used for
controlling of position and sPeed

control ?

(a) Stepper motor

(b) Techo generator

(c) Amplidyne

(d) Seryo motor

Which of the following is not a

acfuator ?

(a) Pneumatic Piston

(b) Elechic motor

(c) Power cylinder

(d) PneumaticdiaPhragm

The size of small flow valve is below

of the following ?

(a) One inch (1")

(b) Half inch (%.)

(c) Two inch (2")

(d) Quarter inch(Yn")

The function of valve Positioner in
pneumatic control valve is to

eliminate

(a) Excess hysteresis

O) Error in valve-stem Position

(c) The efEects of air being
compressible

(d) All of these

27.

28.

29.

30.



IE2O8

fadfr6wrt,*t{t1
Time allowed : Three lloursl

ab ' (i)
Note:

(ir)

2016

CONTROL SYSTEM COMPONENTS

1efir+ar gi6': 70

[Maximum Marks : 70

(2*O

of following

(iii)

(i")

ryqnrt atffi d; dY C d EE€t qfu #ffi{ q?fird t

Question No. I is compulsory, answer anyft.y-e questionsfrom the remaining.

fu yw n srii ffi 61 fficr{ W arq s ffi i

Solve all parts of a question consecutively together'

sa6wl6twryiYrPtfu r

Start each question on afresh p?Ee.- 
^

i}#q,*#-'f sara+ *+ruril-ri*A arlardlqrut r

only English version is valid in case of dffirence in both the languages.

r. tTq +t {frnua ii {Tsr$ :

Explain the following in brief :

(i) Ztetq.*+
Error Detector

(ii) mi-6'
Amplifier

(iir) EIE fws
Pressure Switch

(iv) tq{
DamPer

(v) *.S.em.
T.D.R.

2. t{q gffi +t €rfir q qrdfrtr qq'uqftrd +t uO+ar t qqgE+ ,

Explain with the help of a neat sketch the construction and working

devices:
(i) ifttqfird

Techogenerator
(ii) sci-*c{

Seirro-motor
(7)

(6+6)

P.T.O.
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3. (r) qq-fr tTqqq sqrc +t q.{Ie-c {fur si efiffiqrur si R-qEn{+ I

Explain the construction with neat sketch & characteristics of pneumatic control

valve.

(iD p66i 6numdqr {fi66'61 $il-cre6t irinr iqq+,.t I

Differentiate between construction of synchro transmitter and receiver. (8+4)

4. (i) qqttstfil *'qrq n6 fuixur lr"nd oi qrgr{i r

Explain the speed control system with techogenerator'

(ii) 1q-+iq r+f+^+ Eils tqr ffiqur +i srsm+ r

Explain the load line analysis for magnetic amplifier' (6+6)

5. (i) q*,,tsxr$ gqdq eq{qtesfr EFIIETaq qq?FT qrygr{+ r

Explain the constnrction and operation of permanent magnet stepper motor.

(ii) qs' fir+t qF{fr{t +t qtr+a e qrdhfu urslr{i r

Explain the construction and working of synchro transmitter. (6+6)

6. (i) EdEtfIfuIqfrIM+ti-q.tit srfrdq{ otqrsri t

Explain interlocking with reference to contactor control circuits.

(ii) qler + Sffiitsrr {ffirq iE 66r+€{ tT+{ur qftqq qq qfrffi qftqq EFIItF{ srdPcfrr

qrgrri t

Make and explain the contactor control circuit diagrarn and power circuit

diagram for sequencing connection of motor. (4+8)

7. firq qsr + kii 6r {tfi qsiq qifqq q rrrer 5 sfufisq q,r \rs's}dfts sEq*'r S
kftsi ,

Draw and explain the following switches and also write one industrial application of
each switch :

(i) mqkq
Temperature switch

(ii) 6*1fu+
kvel switch (6+6)

8. trerrndftnqffiftkq:
Write short notes on the following :

(0 ffii-trt+fiffiqurkfldiii arlurirr t

Applications of servo-motors in conbol systerns-

(iD eq{ck{+eqnd'r t

Applications of stepper motors. (6+6)


